

## Universal $R$ Matrix of Two-Parameter Deformed Quantum Group $U_{qs}(SU(1, 1))$

Zhao-xian Yu<sup>1</sup> and Ye-hou Liu<sup>2</sup>

*Received March 13, 1998*

---

The universal  $R$  matrix of the two-parameter deformed quantum group  $U_{qs}(SU(1, 1))$  is derived. In previous work we suggested a method to derive the universal  $R$  matrix of the two-parameter deformed quantum group  $U_{qs}(SU(2))$ . This method is different from that of the quantum double; it is simple and efficient for quantum groups of low rank at least. This paper studies the universal  $R$  matrix of the two-parameter deformed quantum group  $U_{qs}(SU(1, 1))$  using the same approach.

---

The two-parameter deformed quantum group  $U_{qs}(SU(1, 1))$  has three unitary irreducible representations (Jing and Cuypers, 1993): a positive discrete series, a negative series, and a continuous series. The generators of the two-parameter deformed quantum group  $U_{qs}(SU(1, 1))$  can be obtained from a Jordan–Schwinger realization in terms of two-parameter deformed bosonic creation and annihilation operators:

$$L_+^a = s^{-1} a_1^+ a_2^+, \quad L_-^a = s^{-1} a_1 a_2, \quad L_0^a = \frac{1}{2} (N_1^a + N_2^a + 1) \quad (1)$$

$$L_+^b = s b_1 b_2, \quad L_-^b = s b_1^+ b_2^+, \quad L_0^b = \frac{-1}{2} (N_1^b + N_2^b + 1) \quad (2)$$

where  $\{a_i^+, a_i, N_i^a\}$  and  $\{b_i^+, b_i, N_i^b\}$  ( $i = 1, 2$ ) are independent and satisfy the commutation relations

$$a_i^+ a_i = [N_i^a]_{qs}, \quad a_i a_i^+ = [N_i^a + 1]_{qs} \quad (3)$$

$$b_i^+ b_i = [N_i^b]_{qs-1}, \quad b_i b_i^+ = [N_i^b + 1]_{qs-1} \quad (4)$$

<sup>1</sup>Shengli Oilfield TV University, Shandong Province 257004, China.

<sup>2</sup>Chongqing Petroleum Advanced Polytechnic College, Chongqing 400042, China.

where the deformation brackets are defined as

$$[x]_{qs} = s^{1-x}[x] = s^{1-x}(q^x - q^{-x})/(q - q^{-1}), \quad [x]_{qs^{-1}} = s^{x-1}[x] \quad (5)$$

It is easy to check that

$$[L_0^{a(b)}, L_{\pm}^{a(b)}] = \pm L_{\pm}^{a(b)}, \quad s^{-1}L_+^{a(b)}L_-^{a(b)} - sL_-^{a(b)}L_+^{a(b)} = -s^{-2}L_0^{a(b)} [2L_0^{a(b)}] \quad (6)$$

For simplicity, we will omit the index  $a(b)$  in the following discussion. The quantum  $U_{qs}(SU(1, 1))$  is a Hopf algebra; its coproduct is (Yu *et al.*, 1996, 1997a, b)

$$\Delta(L_0) = L_0 \otimes 1 + 1 \otimes L_0 \quad (7)$$

$$\Delta(L_{\pm}) = L_{\pm} \otimes (sq)^{-L_0} + (s^{-1}q)^{L_0} \otimes L_{\pm} \quad (8)$$

We define an inverse of the coproduct  $\bar{\Delta} = T \Delta$ , where  $T$  is the twisted mapping, i.e.,

$$T(x \otimes y) = y \otimes x, \quad \forall x, y \in U_q(SU(1, 1)) \quad (9)$$

So the following relation holds:

$$\bar{\Delta}(a)R = R\Delta(a), \quad a \in U_q(SU(1, 1)) \quad (10)$$

with  $R$  is the universal matrix and can be written as

$$R = \sum_i a_i \otimes b_i \quad (11)$$

Accordingly, Eq. (11) satisfies the Yang–Baxter equation (Yang, 1967; Baxter, 1972)

$$R_{12}R_{13}R_{23} = R_{23}R_{13}R_{12} \quad (12)$$

where

$$R_{12} = R \otimes 1, \quad R_{13} = \sum_i a_i \otimes 1 \otimes b_i, \quad R_{23} = 1 \otimes R$$

For convenience, let  $x$  and  $x'$  stand for the first and the second operator in the tensor product  $U_{qs}(SU(1, 1)) \otimes U_{qs}(SU(1, 1))$ , respectively. Therefore Eqs. (7), (8), and (10) take the form, respectively.

$$\Delta(L_0) = L_0 + L'_0 \quad (13)$$

$$\Delta(L_{\pm}) = L_{\pm}(sq)^{-L'_0} + (s^{-1}q)^{L_0}L'_{\pm} \quad (14)$$

$$\bar{\Delta}(L_0)R(x, x') = R(x, x')\Delta(L_0) \quad (15)$$

$$\bar{\Delta}(L_{\pm})R(x, x') = R(x, x')\Delta(L_{\pm}) \quad (16)$$

In order to get the solution of Eqs. (15) and (16), we let

$$R(x, x') = \sum_{l=0}^{\infty} C_l(L_0, L'_0) L_-^l L_+^l \quad (17)$$

where  $C_l(L_0, L'_0)$  is a functional of the operators  $L_0$  and  $L'_0$  as well as parameters  $l$ ,  $q$ , and  $s$ .

To obtain nontrivial results, we have to substitute Eq. (17) into Eq. (16):

$$s^{-L'_0+l} q^{L'_0+l} C_l(L_0 - l, L'_0 + l) = (sq)^{-L'_0} C_l(L_0 - l + 1, L'_0 + l) \quad (18)$$

$$\begin{aligned} & (sq)^{-L_0+l} C_l(L_0 - l, L'_0 + l) - (s^{-1}q)^{L_0} C_l(L_0 - l, L'_0 + l + 1) \\ & = s^{-2L_0-L'_0} q^{L'_0+l+1} [l+1]_{qs}^{-1} [2L_0 - l] C_{l+1}(L_0 - l - 1, L'_0 + l + 1) \end{aligned} \quad (19)$$

$$s^{-L_0-l} q^{-L_0+l} C_l(L_0 - l, L'_0 + l) = (s^{-1}q)^{L_0} C_l(L_0 - l, L'_0 + l - 1) \quad (20)$$

$$\begin{aligned} & (sq)^{-L'_0} C_l(L_0 - l - 1, L'_0 + l) - (s^{-1}q)^{L'_0+l} C_l(L_0 - l, L'_0 + l) \\ & = s^{-L_0-2L'_0} q^{-L_0+l+1} [l+1]_{qs} [2L'_0 + l] C_{l+1}(L_0 - l - 1, L'_0 + l + 1) \end{aligned} \quad (21)$$

We let

$$C_l(L_0, L'_0) = \tilde{C}_l s^{aL_0L'_0+bL_0+cL'_0} q^{dL_0L'_0+eL_0+fL'_0} \quad (22)$$

On the substitution of Eq. (22) into Eqs. (18) and (20), respectively, we have

$$a = 0, \quad b = c = l, \quad d = 2, \quad e = -l, \quad f = l \quad (23)$$

The recurrence formula is easy to get

$$\tilde{C}_l = (q^{-2} - 1)^l q^{-l(l-1)/2} / [l!] \quad (24)$$

where we have  $\tilde{C}_0 = 1$ . Equation (17) can be rewritten as

$$R(x, x') = \sum_{l=0}^{\infty} \frac{(q^{-2} - 1)^l q^{-l(l-1)/2}}{[l!]} s^{l(L_0+L'_0)} q^{2L_0L'_0-l(L_0-L'_0)} L_-^l L_+^l \quad (25)$$

Let us check whether Eq. (25) holds for the Yang–Baxter equation,

$$R(x, x')R(x, x'')R(x', x'') = R(x', x'')R(x, x'')R(x, x') \quad (26)$$

The left-hand side of Eq. (26) is

$$R(x, x')R(x, x'')R(x', x'')$$

$$= \sum_{M, N=0}^{\infty} q^{2L_0L'_0 + 2L_0L''_0 + 2L'_0L''_0} q^{-M(L_0-L'_0)-N(L'_0-L''_0)+NM}$$

$$\begin{aligned} &\times s^{M(L_0+L'_0)+N(L'_0+L''_0)} L_-^M L_+^{''N} \sum_{l=0}^{\min(M,N)} \tilde{C}_{M-l} \tilde{C}_l \tilde{C}_{N-l} q^{-l(2L'_0+2N-l)} \\ &\times s^{-l(2L'_0-2M+l)-NM} L_+^{M-l} L_+^{N-l} \end{aligned} \tag{27}$$

The right-hand side of Eq. (26) is

$$\begin{aligned} &R(x', x'')R(x, x'')R(x, x') \\ &\sum_{M,N=0}^{\infty} q^{2L_0L'_0+2L_0L''_0+2L'_0L''_0} q^{-M(L_0-L'_0)-N(L'_0-L''_0)+NM} \\ &\times s^{M(L_0+L'_0)+N(L'_0+L''_0)} L_-^M L_+^{''N} \sum_{l=0}^{\min(M,N)} \tilde{C}_{N-l} \tilde{C}_l \tilde{C}_{M-l} q^{l(2L'_0-2M+l)} \\ &\times s^{l(-2L'_0-2N+l)+NM} L_-^{N-l} L_+^{M-l} \end{aligned} \tag{28}$$

On the other hand, we have for all nonnegative integers  $M$  and  $N$

$$\begin{aligned} &\sum_{l=0}^{\min(M,N)} \tilde{C}_{M-l} \tilde{C}_l \tilde{C}_{N-l} q^{-l(2L'_0+2N-l)} s^{-l(2L'_0-2M+l)-NM} L_+^{M-l} L_-^{N-l} \\ &= \sum_{l=0}^{\min(M,N)} \tilde{C}_{N-l} \tilde{C}_l \tilde{C}_{M-l} q^{l(2L'_0-2M+l)} s^{l(-2L'_0-2N+l)+NM} L_-^{N-l} K_+^{M-l} \end{aligned} \tag{29}$$

From Eqs. (27)–(29), we conclude that Eq. (26) is the universal  $R$  matrix of the two-parameter deformed quantum group  $U_{qs}(SU(1, 1))$ .

**REFERENCES**

Baxter, R. J. (1972). *Ann. Phys.* **70**, 193.  
 Jing, S. C., and Cupyers, F. (1993). *Commun. Theor. Phys.* **19**, 495.  
 Yang, C. N. (1967). *Phys. Rev. Lett.* **19**, 1312.  
 Yu, Z. X., and Liu, Y. H. (1998). Universal  $R$  matrix of two-parameter deformed quantum group  $U_{qs}(SU(2))$ , *Int. J. Theor. Phys.*, this issue.  
 Yu, Z. X., Yu, G., Zhang, D. X., and Liu, Y. H. (1996). *High Energy Phys. Nucl. Phys.*, **21**, 999 [in Chinese].  
 Yu, Z. X., Zhang, D. X., and Yu, G. (1997a). *Commun. Theor. Phys.* **27**, 179.  
 Yu, G. Zhang, D. X., and Yu, Z. X. (1997b). *Commun. Theor. Phys.* **28**, 57.